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st & forw 3re7aer/ Instructions to the Candidates

WHW@WW%‘W#% | el 3Tt s freioT garer weat & 3R W) fR9T ST | / The question paper is in
the form of test booklet. All candidates will be-assessed on identical questions.

réa:awﬁwsma%wawamﬁw&ﬁwmmm%aagwmm, (&), @) 3k (@) Reaw g s

FaeT Tk &1 WET § 3 Wl 3UYFd 3cal T T AT SN / Each objective question is provided with a text and/or

figures wherever applicable wnth multiple answer choices (A), (B), (C) and (D). Only one among them is correct and
most appropriate answer shall be selected.

Tl SEeIsS T & HEY Seal o forw FATT 31 — AT § 3R 9 e seeR F e v feré Aerdia i g g / Al

objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for
each wrong answer.

T W9 & fT 34 3k ¢ W 3113# ITeTd 3a< ATAT ST / Multiple answers for a question will be regarded as
a wrong answer.

3R 37 & forw gafy ars=rRiat - v 37697 AR 3ca] U Yl R 97 §1 / A separate OMR answer sheet is
provided to all candidates for answering.

HTAIR O R BT 1T 3T AergdE 9| SNTHIR 97 W fAwa 3R Ted 39gFd e FI RfEaa # & faw
Fae dfer e O (Fell/arel) &7 9T FY| / Read the instructions on the OMR sheet carefully. Use only Ball Point
Pen (Blue/Black) for writing on OMR sheet and marking the most appropriate answer.
mﬂmﬁﬁmmwﬁmwgmﬁmﬁmﬁméﬁ%%l =0 31feErd w7 @ 3NTAINR e F IFT W
e 3R 3 w9 @ aler | AT F A W 3cak IF F Hedida el [hdT S| / Question booklets have been

marked with A or B or C or D or E on the right side top corner, which is mandatory to be written on the OMR sheet in
the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

grerifes SRUET ATy I 3R aRREar o SiX 4 §, R off 3ok fove I Ageaqol & o Tardsra o 9 & e H T
IOATT Y| mwmm@am%mmmaw 3T 31T URAT I ST bl § AR 16 H FHieT Farer
T G199 3T Hehal &1/ Although the test stresses on accuracy more than speed, it is important for you to use your time as

effectively as possible. Do not waste time on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

uﬁmwﬁﬁmﬁwwwmmﬁmmm%‘l g forT areer e F& & sealr| / Space
available in the booklet could be used for rough work, if required. No separate sheet will be provided.

. Fofrd 98T AT g R, JTANR Ieak IRceH! 1 FR & Seet fHeat | s 3R #7el TR Scc IfecerT e #1
i T g 9y 3mass 91 W / On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark
at the top and hand over the original OMR Answer Sheet to the invigilator and retain the duplicate copy.

. eI @A g I (1) Fafra odtem ster o e oX wreY Rrvsmar orar § 3K (2) AR ser 1 Aders s v § sk
e ot TRFPYRY #F srsweff gorY w1y & o SC | / At the end of the test (1) Written Test Call Letter(s) with

photograph pasted on it and (2) OMR Answer Sheet should be handed over to the invigilator and shall not be
carried by the candidate under any circumstances.
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01.

02.

03.

04.

2= 9f3T H15 / Question Booklet Code

fheet & o= s qob aer fRseanrly &, 37 9ureh &

In a full wave rectifier without filter, the ripple factor is

(A)  0.482 (B) 1.21 (C) 1.79 (D)

AW 3K T Aol & arer o). oRoy & T a1 g6 993§

In an AC circuit with R and L in series which relationship is true

(A)  RF F IR-IN dreedr AR IR & ATEIH ¥ GRT FHell H £l

the voltage across the inductor and the current through the inductor are in phase
(B) R& ¥ IR-UR aleedr, ek & ALTH & ORT & 90 f3afr qrarar # &

the voltage across the inductor lags the current through the inductor by 90 deg.
(C) gfeer & AT ¥ ORT, SRR F HR-OR dleedr & 180 f3al avEar # g

the current through the resistor lags the voltage across the resistor by 180 deg.
(D) SRR & R-IR dleedT, RF & IN-IR aleear & 90 fZaf @=adr & &

the voltage across the resistor lags the voltage across the inductor by 90 deg.

T T Tew Aocar IRTdS Hr R FAT §

Which component opposes voltage change?

(A)  wfeRier/ Resistor (B) &/ Inductor
(C) &ERF / Capacitor (D) gifSreex / Transistor

FAT QT &, S AT F 3 §U ART & SR TR I HeuT e §
What happens when a heat is applied to the joined ends of the wires of a thermocouple

) dR G g e 2 / the wire contract

(B) R HUW @a oI § / the wires start to rotate

(C) U ®ieT dleedl 3cde=f il & /a small voltage is generated
(D) @R 37T g 1T & / the wires separate

TFENEY TEF (SAFEA) / Tech. Asst. (Electronics) - 2018 — TSR3 / IPRC




05.

06.

07.

08.

w9aT gf¥T 12 / Question Booklet Code | A

IfE ve P 3ade ek & I IRF & S §, dr S ) aRemar g glem

If a gas in a fixed volume container is heated, the resultant pressure on the gas

(A)  @Er IEaT § / remains the same

(B)  ¥gadr & /increases

(C) =edr § / decreases

(D)  3SAT & egAhARIIGR § /is inversely proportional to the heat

A R@me a1 9wy #, B W 391 § / In the circuit shown below, the output at B is

(A) /'\ (B) /\

(©) (D)

et T F T6el R & Ja-Fels I et & v fomar arar &

The pre-tinning of wire prior to soldering is done to prevent

(A)  ardT gegART / thermal mass (B) @M / weakening

(C) «SHfSar/ birdcaging (D) g8 &l # gIfel / surface area loss

uﬁa#o.%mgafrmwmauﬁﬁ:g:%gcr%,a‘rgw»rmmﬁmwsi?h?/lftwo,o.zsmicrofarad

capacitors are connected in series, what will be the total effective capacitance?

(A)  0.125 #AASsT ¥T8 /0.125 micro farad (B) 0.0624 ATSsHT 1 /0.0624 micro farad
(C) 2.5 @S W5/ 2.5 micro farad (D)  0.50 ATSsHr TS / 0.50 micro farad

FFET e (Saaeiad) / Tech. Asst. (Electronics) - 2018 — 3TER3M / IPRC 4




09.

10.

1.

12.

et 93T #15 / Question Booklet Code

gl &7 afEg I[UTeR, & ISR g/ The power factor of a circuit is equal to

(A) EICos® (B) Cos @ (C) EISing (D) Sin®

Far T &THAT AT JeAaT § / Energy is the capability or ability to

(A)  FF F=T / do work (B)  IT%cd T HRUT / cause gravity

(C)  3Taer iS¢ &=1/ destroy charge (D) @HT & gfg FeT / increase time

TS 3 & Ui § / What does LED stand for?

(A)  9eRM 3cqoe UEqT / Light Emitting Display
(B) f#=T 4T ugel / Low Energy Display
(C) wehIer 3c@eies SIS / Light Emitting Diode

(D) WM 3cHoieh HHEH/ Light Emitting Detector

S fordlr gered dr 3RS IRIEIar 1 3R &, aF @ FEr ST §

When the Relative Permeability of a material is much greater than 1, it is called

(A)  wfddsehra / diamagnetic (B) eliggshrd / ferromagnetic
(C)  3FgFahIT / paramagnetic (D)  37ShIT / non magnetic

AFAI WEHF (Faaeiiahn) / Tech. Asst. (Electronics) - 2018 — TSH3mE / IPRC




13:

14.

15.

16.

92T i3 #15 / Question Booklet Code | A

ad diecdl & AT Ush & ST gfygy & gl 9faler §ear &, 9RT / In a simple DC circuit with a

constant voltage, where the resistance increases current will

(A) =3 / decrease (B) %hdll / stop
(C) ¢ /increase (D) T 9/ remain constant
vA-crsy fAferple #, Ycdeh arar W‘HTUI T AWTEI ST g / In n-type silicon, each donor atom

contributes

(A) 13 SelargleT / 1 free electron (B) 2 #eT Ferciel / 2 free electrons

(C) 3w gelagl« / 3 free electrons (D) 4 T Felercial / 4 free electrons

AFafaf@a akaey § / The following circuit is

Vin

(A) T3 waele / differential amplifier (B) wfdae ya¥e / inverting amplifier
(C) 39 yaeis / non-inverting amplifier (D)  dleedr 3T / voltage follower

U FE-HAET AT & aiferT Hr 3gfed %, fo@er T = 30 pH 3R ¥ = 300 pF & 39 9 & /

The frequency of oscillation of a tunnel-collector oscillator having L = 30 yH and C = 300 pF is nearby

(A) 267 kHz (B) 1677 kHz (C) 1.68kHz (D) 2.67 MHz

aEelIhT WEIF (FaFciiara / Tech. Asst. (Electronics) - 2018 — TEdEY / IPRC 6




17.

18.

19.

20.

T2 9T¥T ®15 / Question Booklet Code

qI-ue EIY SIS # 37987 9Rd @l dISS / the width of depletion layer in a P-N junction diode

(A) 9 ST §, STq egcshel 3= YA Bl & / increases when a reverse bias is applied
(B) dg SIdI §, 5 311 A= 9geFd gIdT ¢ / increases when a forward bias is applied

(C) ©¢ Sl &, SIS gcfshal T T gIm & / decreases when reverse bias is applied

(D)  @gr T&dT &/ remains the same

HASI Solargle & / Valency electrons are the

(A)  drem ST g3 ZolgrelsT / loosely packed electrons

(B)  HIETS el / mobile electrons
(C) dTEda# FaT H 3UfTUd Sl / electrons present in the outermost orbit

(D)  Soagie, ST SIS off 31T & dTgsh =gl 8idT & / electrons that do not carry any charge

3eTaTes 7 3ugew S fir wihar & gl ST §

The process of adding impurities to semiconductor is called

(A)  39gedRioT / impurification (B)  w@ENUT / pollution
(C) Ta3tg=i=1/ deionization (D)  319f&=0T / doping

fawara, s gifoRex vatss &7 aRT afey e & §

The configuration in which current gain of transistor amplifier is lowest is

(A) 3%IRTSS 3MYR / Common base (B) 3%afeiss Hamgr / Common collector
(C) 3saferss 3cqsish / Common emitter (D) 37 ¥ P15 & 18T / None of the above

THellh HETIH (FAFeiere) / Tech. Asst. (Electronics) - 2018 — 3EdiaHY / IPRC




9eaT 9f3sT 15 / Question Booklet Code

21. un3d. & /AFETIs

(A)  gd 3T faraer gfavrer/ very high input resistance
(B) &g fore=T S92 ufaRier/ very low input resistance
(C) 3Td Gauel 3cdsih A/ high connection emitter junction

(D) 377 3fAATT dr-vsr G/ forward biased P-N junction

22. © g yads # w4 & fore varg gl &

In Class - A amplifier, the output current flows for

(A) faaY THhd & Tk & Tk AT/ a part of the cycle of the input signal
(B) fo¥a=r W & W wsh / the full cycle of the input signal

(C) A @Hha & 3MY T / half the cycle of the input signal

(D) A% dhd & T T % / % of the cycle of the input signal

23.  gifclerest watien &1 7ET fAAVAIC § / The main characteristics of Darlington amplifier are

(A) Fou aer ufaeren, 3o et ufaemer 3R 3= arr ofsyr
high input impedance, high output impedance and high current gain
(B) foe=r foaer wiaren, Fe=r ety ufqerer 3R ooy arr wfeyr
low input impedance, low output impedance and low current gain
(C) 3eu fFaer gfderer, @w @ee ufderer 3R 3o arr afsy
high input impedance, low output impedance and high current gain
(D) ToresT faaer gfdemer, e et ufderer 3R 3= arr wfsyr

low input impedance, low output impedance and high current gain

24, HIRIETH. F AT c<fHerer FAT § / What are the three terminals of a TRIAC

(A) e, s 1 3R WS 2/ gate, anode 1 and anode 2

(B) e, @i 3R HSe / gate, source and sink

(C) 3R, 3caois 3R HIRT / base, emitter and collector
(D) 3cHeish, MR 1 3R 3MUR 2/ emitter, base 1 and base 2

TEAERY FEAF (FaFciaa) [ Tech. Asst. (Electronics) - 2018 — TSR3 / IPRC
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26.

27.

28.

99T 93T &1 / Question Booklet Code | A

Teh JUTEN &T 37aeieeT IUTE S Bl A JOTa %

The damping factor of a system is unity. The system is

(A)  IAEHATE / under damped (B) 3R / unstable

(C) wifaerd aHfed / critically damped (D) T /stable

TF.TH. AT & AT AAF 3$.U% He& ¢ / The standard IF value for FM receivers is

(A) 550 kHz (B) 455 kHz (C) 660 kHz (D) 720 kHz

e R 3T & Fad gHAEERT U U WA g | ufafear &e @ aAar AR E-a &

GEY Hehd I IR el I &gl ST & / The ability of a radio receiver to respond only to the

radio signal it is tuned to and reject other signals nearby is termed as

(A)  TIATHRAT / selectivity (B) ganfedT / sensitivity
(C)  igfee &fureT / frequency attenuation (D) 3T Higell / amplitude modulation
Iafea O T T aTer W @ JifadeRer e  seer A Ser ¥, @ gl STl § /

The frequency to which the incoming signal is changed in super heterodyne reception is called

(A) 3 3gfed /amplitude frequency (B) ¥f3ar 3mafea/ radio frequency
(C) #He¥ 3gfcd / intermediate frequency (D) gl 3mgfed / modulated frequency

Tl WETawF (FaFeiey) / Tech. Asst. (Electronics) - 2018 — 3m§dism#t / IPRC 9




29.

30.

31.

32.

W9 I3 F12 / Question Booklet Code | A

9T F A Aeeq & ufd s At frdwar &

The number of frames per second in TV system in India is

(A) 25 (B) 80 (C) 20 (D) 75

S 8 dleleh, aehid Folehd i hical §, dl dleleh H S.UA.UH IR glar g1 Ig gRee, &
HTER & / Whenever a conductor cuts magnetic flux, an e.m.f is induced in that conductor. This

phenomenon is according to

(A) et AF3/ Coulomb’s law

(B) S I /joules law

(C) WIS =% / Faraday’s law

(D)  gsx 3 ST & &gl / Weber and Ewing’s theory

F GoF IEEAT & SSold I arSue WoTdHd il &

Vaporization refers to the change in state of matter from

(A) 3 ¥ 3 /solid to gas (B) 3 & gd /solid to liquid

(C) &a & 39 /liquid to gas (D) 3| ¥ gad / gas to liquid

HfhdTcas Jaus & for, Tad [adr afsr Av 3R Safass faer omr Ac &, o33,

ZaRT f&ar I r § / For an op-amp having differential gain Av and common-mode gain Ac the CMRR is

given by

(A)  Av+Ac (B) Av/Ac (C) Av+1/Ac (D) Ac/Av

TRAIPT TGS (FaFeiiaiaT) / Tech. Asst. (Electronics) - 2018 — STSHIRE / IPRC 10




33.

34.

35.

36.

9e 9T H13 / Question Booklet Code | A

AfShaTcAs gatieh 1 ¥ X & Fohel Herar &

The slew rate of an operational amplifier indicate

(A) ool Aslr & saT f@9Te aRT Seor Tohdr ¥ / how fast its output current can change

(B)  fohcwelr dslt & ST feter wfdemen e Wehar $/how fast its output impedance can change
(C)  Toraelr st & swehr e AT agar Tohel ¥ / how fast its output power can change

(D)  forcelr qslt & s ety aleedr sgar TohaT & / how fast its output voltage can change

555 §71a fdaes S & gEr efffmer (R 5) 3mAdk W v guile (~ 0.01uF) & Ao & a1fF
q SEl grar g1 I8 33 € | / The control terminal (pin5) of 555 timer IC is normally connected to
ground through a capacitor (~ 0.01uF). This is to

(A) maﬁm#ma@zﬂwﬁaﬁmaﬁrmm
protect the IC from inadvertent application of high voltage
(B) & W IFAT @ @R el RarRer & Iy
prevent false triggering by noise coupled onto the pin
(C) fodtee ganT faR fager & deor w3 & oRafda w@r
convert the trigger input to sharp pulse by differentiation
(D)  fordr o =momers REaer v &1 gary

suppress any negative triggering pulse

SgdhH dleedl T 3ifshas qRaAToT, awmwm@mmmmmwhe

maximum amount of reverse voltage which can be applied on a diode before breakdown is reached

(A)  SIeR dieedr / Zener voltage

(B) RIWX =gas# dleed / Peak inverse voltage
(C)  #SFT dleedr / Breakdown voltage

(D) &gl dleear / Threshold voltage

Heg 3gfea & &, & & # § / Audio frequency range lies between
(A) 30 MHz 1/and 250 MHz (B) 50 MHz d@¥1/and 500 MHz
(C) 20 Hz @/and 20 KHz (D) 25 Hz aT/and 45 KHz

ddellenl WeIF (Faaeiierd) / Tech. Asst. (Electronics) - 2018 — TSR / IPRC 1




37.

38.

39.

40.

weaT 9f¥T #1= / Question Booklet Code | A

arerAeell & 3227 ITAETHAT T T MO SEfaRoT el el &

The purpose of the Oscilloscope is to provide the user with a graphical representation of

(A)  dieedl §a1H AT / Voltage vs Time

(B)  helm fa®emy s &TRdAT / Phase shift vs Capacitance
(C)  9faRIeY g1 dleedr / Resistance vs Voltage

(D)  oRT =1 9faer/ Current vs Resistance

U ITT-aEEIAT SOTET #, Rheex FI S, S JreEr-areer HifEAT sngicd d5 Hendl I ar rerT-3rerT
Tt & feforT el 8, oo & v odieX 1 aun gE g @ SR §.F &gl STl & /

In a high-fidelity system, the pair of filter which separate audio frequency band signals into two separate
groups, one of which is fed to the tweeter and the other to the woofer is called

(A)  gAEA E@HER / matching transformer (B) wHSR® / equalizer
() ¥uq Feas / bridge network (D) HehHAUT Aedw / crossover network

A Regre wv aRey &, did smafed L AR C Fr ey smgfed § o R 3PR I 3gfed 39 E &
mﬁrmﬁ?ﬂEﬁ?—ﬂﬁW*WﬁEﬁ,{al?ﬁ%,a’fﬁ?ﬁfﬁﬁaﬁm@?ﬂllnthecircuitshown

below, the source frequency is below the resonant frequency of L and C. If this frequency is now gradually
increased through resonance without changing the amplitude of E, the voltage at the output would

E

v

O

E @ § R Output

»
 af

(A) UES "e S § 3R R 9 ST §/ decreases at first and then increase
(B) Ugar 5% o ¥ 3R MR e It § /increase at first and then decrease
(C) AR =edr Sl § / decrease continuously

(D) ETAR Sgar Sl § / increase continuously

et afea 1 Ser HAEr 5125 ¥ | A Jgfed 4T §?

The fourth harmonic of a fundamental frequency is 512 Hz. What is the fundamental frequency?

(A) 256 Hz (B) 126 Hz (C) 102.4 Hz (D) 128 Hz

FHAA WEAF (Foaeiad) / Tech. Asst. (Electronics) - 2018 — 3T$HI3mt / IPRC 12




41.

42.

43.

e If&T H15 / Question Booklet Code

AT.TH.3.UH. FT Jdad § / CMOS means

(A) X HET 3ifFHgs YHesael / Complementary Main Oxide Semiconductor
(B) W Hrd 3ifewrss s / Complementary Metal Oxide Semiconductor
(C) W HAEY 3o Aeiehsael / Complements Main Oxidation Semiconductor

(D) &g 3iferdiehed Aefehseed & WEweer / Correlation in Metal Oxidized Semiconductor

S A el AT T Figer AR & / Which of the following is a vector quantity?

(A)  faegd &R/ Electric current (B) faegq faera / Electric potential
(C) faegd 9feRIe / Electric resistance (D) faegd & / Electric field

AYH-16 0T & AT fohctel Tela-FrellT 37Taedeh §7?

How many Flip-Flops are required for mod—16 counter?

(A) 3 (B) 6 € 3 (D) 4

44. wh 49 Jeasias v, FAT-FaT F @Y FROT R{de & 39T g% aR 15 ns #RT § |

e & IRAd & AU 3mavgs 3RS aa g THT g9 / A 4-bit synchronous counter uses flip-flops

with propagation delay times of 15 ns each. The maximum possible time required for change of state will be

(A)  15ns (B) 30ns
(C) 60ns (D) 5 ¥ FIS o AT / none of the above

AHAIPT WETaS (Folarei=ighn) / Tech. Asst. (Electronics) - 2018 — 3m§dismTt / IPRC 13




45,

46.

47.

48.

e T ®13 / Question Booklet Code

ST AT 43 T SLHLE. AT & / BCD equivalent of decimal number 43 is

(A) 101011 (B) 1000 0011 (C) 01000011 (D) 0011 0100
AR e Al F &7 F sy ST ST § / Excess-3 code is also known as

(A) TR FI5 / weighted code

(B) b 3ifaReradr &1 / cyclic redundancy code

(C) W RH HI5 / self complementing code

(D) &ISiT HIs / algebraic code

fBfoee Fegex # gae goir & fow 3T faRar Siar §

The Index register in digital computer is used for

(A)
(B)
(©)
(D)

3ieariorg 3R a% dfsear ST / performing arithmetic and logic operations
gRome &7 AT HSRUT / temporary storage of results

TATGROT 32T F AT / address a modification purpose
T WA & AoIfed e & 90T S wEdr

counting number of times a program is executed

T eRee H ¥ / A half adder has

(A)
(8)
(©)
(D)

2 faaer 3R 2 f&91# /2 inputs and 2 outputs
2 fager 3R 3 @9 /2 inputs and 3 outputs
3 ferder 3R 3 979 / 3 inputs and 3 outputs
1 f@3er 3k 1 @91 / 1 input and 1 output

aFRAlR TEF (FAFeiarsh) / Tech. Asst. (Electronics) - 2018 — TSR / IPRC
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49.  uw goId dig F 39T & AU SEIATST fRIAT ST Fehll &

50.

51.

52.

A moving iron Instrument can be used for

(A)  Shac 3r.EY. / DC only (B) haer T.EL. /AC only

(C)  ohadl HfaRIE / resistance only (D) ©dn 3R 2 dr a4t / both AC and DC
EAr 1101101 &r CRIUNRED & /The 2's complement of the number 1101101 is

(A) 0101110 (8) 0111110

(C) 0110010 (D) 0010011

T ST, ST 3deaehrell W & FAGR 37ichsT H Ao 7 3 sHs ol sqorar §

An [C that transforms parallel data to serial in the asynchronous format and vice versa

(A)  UART (B) USART
(C) MODEM (D) RS232C

8-@-13@%%%%?@3&?%@@ &

The number of control lines for a 8 — to — 1 multiplexer is

(A 2 (B) 3
(c 4 (D) 8

dFeihr HETAS (FAFeiiarh) / Tech. Asst. (Electronics) - 2018 — 3§zt / IPRC
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54.

55.

56.

2= Ui 18 / Question Booklet Code

A TH.T, oG TR F =T EHIRT AT ST §

In a DMA write operation the data is transferred

(A)  ferasy Rt & &gfar @ / from I/ O to memory
(B) fa & @dew 9 a% / from memory to I/ O
(C) ¥ ¥ T @ / from memory to memory

(D) fordey et ¥ aey f81s &% /from I/ Oto I/ O

IAAR o, T 39U ek $.ULIR.3NTH. & Aer fear smar §
EPROM is generally erased by using

(A)  Rrefarer RO / Ultraviolet rays

(B)  37axard fHIUll / Infrared rays

(C) 12V faegd ¥ /12 V electrical pulse
(D) 24V fdegd e /24 V electrical pulse

TH.3.3R.CTA. FT HERT ST § / SD RAM refers to

(A)  Jegelfeieh SILIR.T.UA. / Synchronous DRAM
(B) A+ I.3IR.U.TA. / Static DRAM

(C) 31 .IR.T.UA. / SEMI DRAM

(D) gfadRr 3RT.UA. / Second DRAM

T AE. T ZHSTE §/LVDTis a transducer.
(A)  $&aX 9RT / Eddy current (B) wfeRI¥ / Resistance
(C) gahra faFTOT / Magnetostriction (D) RO /Inductive

AFAET eI (FaFeierd) / Tech. Asst. (Electronics) - 2018 — 3r§han< / IPRC
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57. Fr gorT & fow et & Aol 7 Sy ST §

Cells are connected in series in order to increase the

(A)  dleear 3Adish / voltage rating: (B) ©IRT 3fefAdieh / current rating
(C) e 3iefAdIe / power rating (D) @l & 31y / life of the cells
58. e Al T AR H ¥ ged fRar ST §

The rating of an alternator is expressed in

(A)  kw (B) kVA (C) HP (D) KVAR

59. ues W3¢ § /Abyteis

(A) 2 el @1 wh @Hg / a group of 2 bits
(B) 4 faet &1 ws |HE /agroup of 4 bits
(C) 8 fael & us |Hg /agroup of 8 bits

(D) 16 fSet &1 U @Hg / a group of 16 bits

60. frafaf@a ST e 3Nl RIS & Y[ HECA &

The following language uses mnemonic OP codes

(A)  SISIRUT 9T / Assembly language (B) 3T oiddl #TWT / High level language

(C) d«ff% &ST / BASIC language (D) #MA SV / Machine language
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Test held on 21.04.2018 for Selection to the Post of
Technical Assistant (Electronics) — Post Code:018
vide Advt. No.IPRC/RMT/2017/01 dated 07.10.2017

ANSWER KEY
Question Booklet Code A
n. N . K ~ Qn.No. | Ans.Key
01 A 31 C
02 D 32 B
03 C 33 D
04 C 34 B
05 B 35 B
06 C 36 C
07 C 2T A
08 A 38 D
09 B 39 A
10 A 40 D
11 C 41 B
12 B 42 D
13 A 43 D
14 A 44 A
15 D 45 C
16 B 46 C
17 A 47 C
18 C 48 A
19 D 49 D
20 A 50 D
21 A 51 A
22 B 52 B
23 C 53 A
24 A 54 A
25 A 55 A
26 Rk 56 D
27 A 57 A
28 C 58 B
29 A 59 C
30 C 60 A

*** Question not considered for evaluation



